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Question Id : 3421236933 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the mumber of viewers of four different TV channels, namely, JIO,
ZEE, SONY and COLORS in six different cities A-F, along with the ratio male (M) to females
(F) among them. Based on the data in the tables, answer the questions that follow:

City-wise Details of Viewers

Viewers of TV Channel
City 10 ZEE SONY | COLORS
Total | M:F | Total | MCF [ Total [M:F | Total | M:F
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Sub questions

Question Number : 1 Question Id : 3421236934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the average number of female viewers of Zee TV taking all six cities together?

1. 1242

]

. 1262
3. 1282

4. 1302

Question Number : 2 Question Id : 3421236935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The total number of female viewers of COLORS TV from city C is approximately % of
the total number of female viewers of JIO from city A.

1.82
2. 88
3.96

4. 108

Question Number : 3 Question Id : 3421236936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average number of male viewers of SONY TV from all the six cities together is
approximately % of the six cities of viewers of JIO TV from city D.

1. 30

Question Number : 4 Question Id : 3421236937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of male viewers of ZEE TV from city C is approximately % more than
the number of female viewers of SONY TV from city F?

1.124
2.15.2
3.173
4.18.6

Question Number : 5 Question Id : 3421236938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the difference between the total number of male viewers and female viewers of ZEE TV
from all six cities?

1.710
2.704
3.706

4.708

Question Id : 3421236933 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 3421236934 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1242
2. 1262
3.1282
4. 1302

Question Number : 2 Question Id : 3421236935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 82

3.96

4. 108

Question Number : 3 Question Id : 3421236936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 4 Question Id : 3421236937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.124
2.152
3,115

4.18.6

Question Number : 5 Question Id : 3421236938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.710
2.704
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Sub-Section Number : 2
Sub-Section Id : 342123277
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421236939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Terms Meaning
A Declm‘at_n‘e I. | The retention of information about the where and when of life's happenings
Memory
B. el Il | Astudent's general knowledge about the world
Memory G 2

The conscious recollection of information such as specific facts or events

. |Benchs Memory: | 1 that can be verbally communicated

D. |Semantic Memory | IV. [Knowledge in the form of skills and cognitive operations

Choose the eorrect answer from the options given below:
[. A-IV, B-IIL, C-I1, D-I
2. AL B-IV, C-1, D-II
3. A-IL, B-IIT, C-IV, D-1
4. AL B-IL C-IIL, D-IV

Question Number : 6 Question Id : 3421236939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IV, B-IIL, C-II, D-1I
2. A-IIL B-IV, C-I, D-II
3. AL B-IIL, C-IV, D-I

4. A-L B-II, CII1, D-IV

Question Number : 7 Question Id : 3421236940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Use of learning strategies and tactics reflects:

1. Intellectual Humility

[

. Overlearning
3. Rote laerning

4. Meta cognitive knowledge

Question Number : 7 Question Id : 3421236940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 3421236941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Swayamprabha DTH Channel No Channel Name
A | Channel - 03 I. |VIDHIK
B. |Channel - 06 II. JARYABHATT
C. | Channel - 07 III. [EAUTILIYA
D. |Channel - 08 IV. |PRABANDHAN

Choose the correct answer from the options given below:

1. A-II, B-IV, C-III, D-I

(]

. A-III, B-I1, C-IV, D-1
3. A-1IV, B-1, C-1II, D-11

4. A-IV, B-1II, C-II, D-I

Question Number : 8 Question Id : 3421236941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-IV, C-111, D-1

[

. A-IIL B-11, C-1IV, D-1

[

. A-IV, B-1, C-III, D-II

4. A-IV, B-111, C-1II, D-I

Question Number : 9 Question Id : 3421236942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the explanations of Pedagogical Teacher's Dilemmas of
constructivism in practice?

A. Developing deeper knowledge of subject matter

B. Managing new ideas of discourse and collaborative work in the classroom

C. Honoring students attempt to think for themselves which remaining faithful to the accepted
disciplinary ideas

D. Mastering the art of facilitation

E. Confronting issues of accountability with various stakeholders in the school community

Choose the correct answer from the options given below:

I.A, B,CandD only
2.D, and E only
3.A,Band C only

4.B.Cand E only



Question Number : 9 Question Id : 3421236942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 10 Question Id : 3421236943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A physics instructor needs to create International videos demonstrating Newton's law of motion.
Which tool should the instructor use to record, edit and share these videos with students.

L. Flipgrid
2. Camtasia

3. Padlet

4. Google forms

Question Number : 10 Question Id : 3421236943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 11 Question Id : 3421236944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research designs would allow systematic elimination of extraneous
varlables other than those you are interested in?

. Longitudinal research
2. Qualitative research
3. Correlational research

4. Experimental research

Question Number : 11 Question Id : 3421236944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 3421236945 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which among the following research designs are likely to suffer from the problem of sample
attrition?

A. Cross-sectional studies
B. Longitudinal studies
C. Panel studies

D. Cohort studies

Choose the correct answer from the options given below:

I. Aand B only
2.A,Band D only
3.A, Cand D only

4.B, Cand D only

Question Number : 12 Question Id : 3421236945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 3421236946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When the characteristic like age, sex or race of the researcher affect the behaviour of a
participants in a study, it refers to

1. Biosocial effect
2. Psychological effect
3. Hawthorn effect

4. Evaluation apprehension

Question Number : 13 Question Id : 3421236946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 3421236947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the ordinal variables.

A. Rank of army personnel
B. Religion

C. Caste

D. Annovance level

E. Temperature in Celsius

Choose the correct answer from the options given below:

1. A, B, CandD only

(]

. B and C only
3. A, and D only

4. D and E only

Question Number : 14 Question Id : 3421236947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 3421236948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a situation where a researcher wants to test whether the population mean is lower than some
hypothesized value, the researcher would employ-

1. Z- tailed test
2. Left tailed test
3. Right tailed test

4. F- test

Question Number : 15 Question Id : 3421236948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 16 Question Id : 3421236949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The semiotic study of Charles Pierce is in its approach:
1. Experimental

2. Historical

[

. Quasi legal

4. Quasi- scientific

Question Number : 16 Question Id : 3421236949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 3421236950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of explanatory journalism attempts to answer more-

1. “Why’ questions

[

. “Where’ questions

(5]

. “Which’ questions

4. *Who’ questions

Question Number : 17 Question Id : 3421236950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 3421236951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are statements made by scholars in relation to media-audience equations?

A. New media are natural and social

B. People are polite to well-designed computer

C. The relationship between communication gadgets and people is passive
D. The new media technology has created a kind of techno-spirit

E. The techno-media environment is an ideal environment

Choose the correct answer from the options given below:
1.A,D,Eonly
2.C, D, E onlyu
3.B,.C,E only

4.A,B,C,Donly

Question Number : 18 Question Id : 3421236951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 3421236952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological order of the following inventions related to communication:

A. Cable television
B. Telegraph

C. Telephone
D.MP3

E. Phonograph

Choose the correct answer from the options given below:
I.A,C.D.B.E
2.B,C,E,A,D
3.C.AB.D.E

4 EACBD

Question Number : 19 Question Id : 3421236952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. E.ACBD

Question Number : 20 Question Id : 3421236953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Concept Description
Disinformation [. |International suppression of contradictory ideas

Black propaganda | II. | Transmission of information may be or may not be false

White propaganda | III. |False information about the opposition

ola|w|s

Gray propaganda | IV, |Strategic transmission of lies

Choose the correct answer from the options given below:

1. A-L, B-IL, C-1IL, D-IV
2. A-11, B-II, C-IV, D-1
3. A-IIL B-1V, C-1, D-I

4. A-IV, B-1, C-I1, D-III

Question Number : 20 Question Id : 3421236953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-I1, D-IV

oflo|w|=

2. A-11, B-III, C-1V, D-1
3. A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-11, D-III

Question Number : 21 Question Id : 3421236954 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

In an examination a student scores 4 marks for every correct answer and loses | mark for every
wrong answer. A student attempted all the 200 questions and scores 400 marks. The number of
questions he answered correctly was:

1. 60
2.100
3.120
4.150

Question Number : 21 Question Id : 3421236954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. 60

2. 100
3.120
4. 150

Question Number : 22 Question Id : 3421236955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs 235 results in a discount of 6% on the marked price of an item, at what
price should the item be sold to offer a discount of 15%?

1.Rs 199.5
2.Rs206.5
3.Rs212.5

4.Rs 215

Question Number : 22 Question Id : 3421236955 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1.199.5 7Y
2.206.5 0
3,212,590
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Question Number : 23 Question Id : 3421236956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One term in the number series is wrong. Find out the wrong term?
325, 259, 202, 160, 127, 105, 94

1. 94

[
[ —
2
-1

Question Number : 23 Question Id : 3421236956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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325, 259, 202, 160, 127, 105, 94

1. 94

[

127

3202

Question Number : 24 Question Id : 3421236957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word *FLOUT’ is coded as *IIRRW”, then the word *CLING’
will be coded as:

1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 24 Question Id : 3421236957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U FfSd B oG YTV T, 206G FLOUT &l “IIRRW" ¥ Picd bl Sl 8, 7d Teg
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1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 25 Question Id : 3421236958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6 Pumps, working 12 hours a day, can empty a tank in 15 days. How many hours a day must 8
pumps operate to empty the tank in, days.

1. 13 hours
2. 14 hours
3. 15 hours

4. 16 hours

Question Number : 25 Question Id : 3421236958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 26 Question Id : 3421236959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"No one has ever been able to prove that psychic powers do not exists. Therefore it is proved that
psychic powers do exist. Identify the fallacy in the above arguments.

1. Appeal to ignorance
2. Hasty generalization
3. Slippery slope
4. Equivocation

Question Number : 26 Question Id : 3421236959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 3421236960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two propositions are contradictory if

A. They cannot both be true

B. Of the pair, exactly one is true and exactly one is false
C. They can both be false

D. They cannot both be false

Choose the correct answer from the options given below:

1. Aand C only

[

. A, B and C only
3. B only
4. A. B and D only

Question Number : 27 Question Id : 3421236960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 3421236961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. Some non-intelligent animals are non-apes

B. Some apes are not intelligent animals

C. Some apes are non - intelligent animals

D. Some non - intelligent animals are not non-apes

Choose the correct answer from the options given below:

1. A, B and C only

[

. A and C only

(5]

.Aand D only
4. B. C and D only

Question Number : 28 Question Id : 3421236961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 3421236962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is arranged in the order of decreasing extension?

1. Mathematics, arithmetic. numbers, prime numbers
2. Prime numbers, numbers, arithmetic. Mathematics
3. Arithmetic, mathematics, numbers, prime numbers

4. Numbers, prime numbers, arithmetic, mathematics

Question Number : 29 Question Id : 3421236962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 30 Question Id : 3421236963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the arguments is fallacious because the middle term is pervaded by the absence of the
major term instead of ifs presence:

1. The hill has fire because it is knowable
2. Sound is eternal because it 1s produced
3. Sound s eternal because it 1s audible

4. Sound is quality because it is visible

Question Number : 30 Question Id : 3421236963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 3421236964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Web 2.0°, a second generation of the Internet, can best be described as:

. A software package developed by Microsoft and available at a discount to teachers

2. An approach to the Internet in which users can share thoughts, opinions and ideas in a free
and open forum such as blogs, wikis and podcasts

3. An approach to the Internet in which websites and apps can process information in a smart
human-like way through technologies like Machine Learning, Big Data, Decentralized

Ledger Technology, etc

4. Faster Internet for big business

Question Number : 31 Question Id : 3421236964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 3421236965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Each webpage is assigned a (n) , an address that identifies the location of the page on the
Internet.

. Internet Protocol (IP)
2. Uniform Resource Locator (URL)
3. Top-Level Domain (TLD)

4. Hyper Text Transfer Protocol (HTTP)

Question Number : 32 Question Id : 3421236965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 3421236966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(File Extension) (File Type)
A | dox I. |Lage file
B. |.ipe II. |Video file
C. |.mp3 IIT. | MS-WOED file
D. |.mov IV. | Audio file

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV

3

. A-IIL B-1, C-1IV, D-1I

sl

. A-IV, B-1, C-III, D-II

4. A-III, B-IV, C-1, D-1I

Question Number : 33 Question Id : 3421236966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. A-II1, B-IV, C-I, D-1I



Question Number : 34 Question Id : 3421236967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with reference to cybersecurity?

A. Incident response in cyber security involves identifying vulnerabilities and patching them

before an attack occurs
B. CERT-In acts as an early warning system for cyber threats and attacks in India

C. ‘Tor’ is an acronym for “The Onion Router’. which is a web browser that enables people to
communicate anonymously online to prevent bad actors from tracking their Internet activity
D. Using a Virtual Personal Network can help secure a network by encrypting the data

transmitted over it

Choose the correct answer from the options given below:
[. Aand D only
2. Aand C only
3.Band D only

4.Band C only

Question Number : 34 Question Id : 3421236967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 35 Question Id : 3421236968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base-M number system then identify the correct ascending order

of the following numbers A-D when converted to decimal number system

Choose the correct answer from the options given below:
.D,B,C.A
2.B,D,C,A
3.AB.C,D

4.D,B,A,C



Question Number : 35 Question Id : 3421236968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. (203),
B. (100001),
C. (114);

D. (1012);

Choose the correct answer from the options given below:

1.D,B,C,A
2.B,D,C,A
3.4BCD

4.D,B,A,C

Question Number : 36 Question Id : 3421236969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Radioactivity in drinking water can be caused due to pressure of naturally or anthropogenically
occurring radionuclides. Which one of the following is a naturally occurring radionuclides with a
possibility to contaminate drinking water?

. Uranium

2. Plutonium

3. Radon

4. Strontrum

Question Number : 36 Question Id : 3421236969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 3421236970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not released during an earthquake?
1. P - Wave
2. Q - Wave
3.5 - Wave

4. Love Wave

Question Number : 37 Question Id : 3421236970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YU & R FAfRId T i Tt av1 gl S gl § 2
1. Gl- 99 (P- Wave)
2. F.- dd (Q- Wave)
3. UY-dd (S- Wave)
4. 9999 (Love Wave)

Question Number : 38 Question Id : 3421236971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is used to measure and monitor air pollution?

1. RADAR

[-2

. SONAR
3. LIDAR

4. SODAR

Question Number : 38 Question Id : 3421236971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. ¥R (SONAR)
3. IR (LIDAR)

4. TSR (SODAR)

Question Number : 39 Question Id : 3421236972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In nuclear reactors, ‘moderators’ are substances.

A. That slows down neutron

B. That limits the chain reaction

C. That helps to sustain the chain reaction

D. Without which chain reaction in most nuclear reactors would stop
E. Such as heavy water or D,O

Choose the correct answer from the options given below:

1.A,B.CandD only

I3

A, C,DandE only

[N

.B. C and D only

4. A.B and E only



Question Number : 39 Question Id : 3421236972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 3421236973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the level Carbon dioxide (CO,) during pre-industrial era?
1. 200 ppm
2. 280 ppm
3. 350 ppm

4. 420 ppm

Question Number : 40 Question Id : 3421236973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 200 ppm

(]

. 280 ppm
3. 350 ppm
4. 420 ppm

Question Number : 41 Question Id : 3421236974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ancient grammarian Panini was a student at which of the following ancient places of
learning?

1. Takshashila
2. Nalanda

3. Sridhanya Katak

4. Odantapuri

Question Number : 41 Question Id : 3421236974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 3421236975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the major recommendations of the National Education Policy, 2020, is the establishment
of for restructuring higher education in India.

. Science universities
2. Autonomous colleges
3. Technology clubs

4, Higher Education Institutions clusters

Question Number : 42 Question Id : 3421236975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421236976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The major initiatives of the union government during the XI plan in the higher education sector
were:

A. Establishment of 14 world class universities
B. Diversion of funds to private universities better performance

C. Strengthening of science based higher education and research in universities
D. Restructuring of different councils

E. Financially supporting uncovered state universities and colleges
Choose the correct answer from the options given below:

[.A,B, Conly
2.A,C,Eonly
3.B.C.Donly

4.D, E only

Question Number : 43 Question Id : 3421236976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421236977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are public sector funding agencies for research in India?

A. TATA Trust
B. ICAR
C.ICHR
D. ICMR
E. Population Foundation of India (PFT)
Choose the correct answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.D.E only

4. A, C,E only

Question Number : 44 Question Id : 3421236977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421236978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Forerunner college University

Muir Central College| I. |Lucknow University

Oriental College II. |Allahabad University

University College 1. | Aligarh University

olo|w|»

Canning College IV. |Panjab University

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

3

. A-II, B-1II, C-1IV, D-1

sl

- A-IILL B-1V, C-1, D-II

4. A-IV, B-1. C-II, D-ITI

Question Number : 45 Question Id : 3421236978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 1D 1Y Gt 11 T e Sifse

LGl I
TR Yoo diciel | I |Ea fayfaeme

Jfdea oo | 1L |3aede [Ayfaeay
giHafdd sl | 1L | seie Ay
ST BT V. e fayfaemeg

A fqu U fadhedl © U gt 3R &l 994 Hifsu:

1. A-1 B-IL, C-III, D-IV

olofw]|»

[
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-A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-1II, D-III

Sub-Section Number : 3
Sub-Section Id : 342123278
Question Shuffling Allowed : No



Question Id : 3421236979 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension

The Andaman and Nicobar Islands sitwated between 6° and 14° latitudes and 92° and 94
longitudes in the Bay of Bengal have been inhabited for thousands of years going back to the
Middle Palaeolithic age. Through the vast majority of this time the inhabitants of these islands
maintained their separated existence diversifying into distinct linguistic, cultural and territorial
groups. In the mid-nineteenth century CE, for the first time they came into sustained contact with
the outside world. Today, they are mainly consisted of the Great Andamanese tribes like the
Jarawa, the Onge and the Sentinelese and the Nicobarese consisting of the great Nicobarese and
the Shompens. Host to the tropical climate nourished by both the south-west and the north-east
monsoons, the Union Territory is at present divided into three revenue districts with Port Blair as
its capital.

Andaman and Nicobar Islands dwellers have migrated and settled down from various parts of
India and Burma as well. The culture of Andaman and Nicobar Islands is distinct and unique and
comprises mainly two types of inhabitants-Indians and Natives. The former are mainly from the
Indian Mainland especially from areas like Punjab, West Bengal, Tamil Nadu, Myanmar and Sri
Lanka. The Natives are what makes Andaman and Nicobar Islands different from other parts of
the country. They are the main reason why these islands have a wild aura about them.

Sub questions

Question Number : 46 Question Id : 3421236980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following communities has connection with the Andaman and Nicobar Islands?

1. Khasi
2. Santhal
3. Bodo

4. Jarawa

Question Number : 47 Question Id : 3421236981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following does not help the inhabitants to continue their distinctive identity in
Andaman and Nicobar Islands?

. Linguistic aspect
2. Cultural aspect

3. Territorial aspect
4. Nutritional aspect

Question Number : 48 Question Id : 3421236982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following groups of people of Andaman and Nicobar islands have migrated from
Indian mainland, Myanmar and Sri Lanka?

I Indians

2. Natives
3. Nagas

4, Marwaris

Question Number : 49 Question Id : 3421236983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Andaman and Nicobar Islands

1. 1s a cluster of small beatiful countries
2. 1s a cluster of several beautiful islands

3. is a cluster of few villages

4. 15 cluster of deserts

Question Number : 50 Question Id : 3421236984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Port Blair is a part of:

|. Kerala
2. Andhra Prasedh

3. Sri Lanka

4. Andaman and Nicobar Islands

Question Id : 3421236979 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421236980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421236981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421236982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 3421236983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421236984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 3421236985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0





